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Question Id : 68634037476 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634037477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148001. 1
686340148002. 2
686340148003. 3
686340148004. 4
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Question Number : 2 Question Id : 68634037478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148005. 1
686340148006. 2
686340148007. 3
686340148008. 4

Question Number : 3 Question Id : 68634037479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Options :

686340148009. 1
686340148010. 2
686340148011. 3
686340148012. 4

Question Number : 4 Question Id : 68634037480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148013. 1
686340148014. 2
686340148015. 3
686340148016. 4

Question Number : 5 Question Id : 68634037481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148017. 1
686340148018. 2
686340148019. 3
686340148020. 4

Question Id : 68634037476 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634037477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148001. 1
686340148002. 2
686340148003. 3
686340148004. 4
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Question Number : 2 Question Id : 68634037478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340148005. 1
686340148006. 2

686340148007. 3
686340148008. 4

Question Number : 3 Question Id : 68634037479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148009. 1
686340148010. 2
686340148011. 3
686340148012. 4

Question Number : 4 Question Id : 68634037480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TTar § G $1 99 387 U
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Options :



686340148013. 1
686340148014. 2
686340148015. 3
686340148016. 4

Question Number : 5 Question Id : 68634037481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148017. 1
686340148018. 2
686340148019. 3
686340148020. 4

Sub-Section Number : 2
Sub-Section Id : 6863401235
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634037482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148021. 1

686340148022. 2

686340148023. 3
686340148024. 4
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Question Number : 6 Question Id : 68634037482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634037483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340148025. 1
686340148026. 2

686340148027. 3
686340148028. 4

Question Number : 7 Question Id : 68634037483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340148025. 1
686340148026. 2
686340148027. 3
686340148028. 4

Question Number : 8 Question Id : 68634037484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148029. 1
686340148030. 2
686340148031. 3
686340148032. 4

Question Number : 8 Question Id : 68634037484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148029. 1
686340148030. 2
686340148031. 3
686340148032. 4

Question Number : 9 Question Id : 68634037485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148033. 1
686340148034. 2
686340148035. 3
686340148036. 4

Question Number : 9 Question Id : 68634037485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148033. 1

686340148034, 2

686340148035. 3
686340148036. 4

Question Number : 10 Question Id : 68634037486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148037. 1
686340148038. 2
686340148039. 3
686340148040. 4

Question Number : 10 Question Id : 68634037486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148037. 1
686340148038. 2
686340148039. 3
686340148040. 4

Question Number : 11 Question Id : 68634037487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148041. 1
686340148042. 2
686340148043. 3
686340148044. 4



Question Number : 11 Question Id : 68634037487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148041. 1
686340148042. 2
686340148043. 3
686340148044. 4

Question Number : 12 Question Id : 68634037488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148045. 1
686340148046. 2
686340148047. 3
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Question Number : 12 Question Id : 68634037488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148045. 1
686340148046. 2
686340148047. 3
686340148048. 4

Question Number : 13 Question Id : 68634037489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148049. 1
686340148050. 2
686340148051. 3
686340148052. 4

Question Number : 13 Question Id : 68634037489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340148049. 1
686340148050. 2
686340148051. 3
686340148052. 4

Question Number : 14 Question Id : 68634037490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340148053. 1
686340148054. 2
686340148055. 3
686340148056. 4

Question Number : 14 Question Id : 68634037490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148053. 1
686340148054. 2
686340148055. 3
686340148056. 4

Question Number : 15 Question Id : 68634037491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148057. 1
686340148058. 2
686340148059. 3
686340148060. 4

Question Number : 15 Question Id : 68634037491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148057. 1
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686340148059. 3
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Question Number : 16 Question Id : 68634037492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340148064. 4

Question Number : 16 Question Id : 68634037492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634037493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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686340148066. 2
686340148067 3
686340148068. 4



Question Number : 17 Question Id : 68634037493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863401480065. 1
686340148066. 2
686340148067 3
686340148068. 4

Question Number : 18 Question Id : 68634037494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148069. 1
686340148070. 2
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686340148072. 4



Question Number : 18 Question Id : 68634037494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340148070. 2
686340148071. 3
686340148072. 4

Question Number : 19 Question Id : 68634037495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340148073. 1
686340148074. 2
686340148075. 3
686340148076. 4

Question Number : 19 Question Id : 68634037495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340148073. 1
686340148074. 2
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Question Number : 20 Question Id : 68634037496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634037496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340148078. 2
686340148079. 3
686340148080. 4

Question Number : 21 Question Id : 68634037497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340148083. 3
686340148084. 4

Question Number : 21 Question Id : 68634037497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340148081. 1
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Question Number : 22 Question Id : 68634037498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148085. 1
686340148086. 2
686340148087. 3
686340148088. 4

| )

Question Number : 22 Question Id : 68634037498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148085. 1
686340148086. 2
686340148087. 3
686340148088. 4

| )

Question Number : 23 Question Id : 68634037499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148089. 1
686340148090. 2
686340148091. 3
686340148092. 4

Question Number : 23 Question Id : 68634037499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148089. 1
686340148090. 2
686340148091. 3
686340148092. 4

Question Number : 24 Question Id : 68634037500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148093. 1
686340148094. 2
686340148095. 3
686340148096. 4

Question Number : 24 Question Id : 68634037500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148093. 1
686340148094. 2
686340148095. 3
686340148096. 4

Question Number : 25 Question Id : 68634037501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148097. 1
686340148098. 2
686340148099. 3
686340148100. 4

| )

[#%]

Question Number : 25 Question Id : 68634037501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST & AU (i orTorta) ST (o) fatue, 2021 uiivd 3= fear 81 fadas dfaum
(ST STSIT) SIS 1050 BT ST B URT xviil BT HRNFRIT B BT UG B 5. T8 URd &
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4. eI

Options :

686340148097. 1
686340148098. 2
686340148099. 3
686340148100. 4

[ ]
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Part B: Agri Business Management

Section Id : 686340738
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 6863401236
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634037502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The erosion in which soil matrix is lost but remains undetached for long period and remove thin layer of soil
from large area is called-

1. Hill erosion

| )

. Gully erosion
3. Sheet erosion
4, Stream erosion

Options :

686340148101. 1
686340148102. 2
686340148103. 3
686340148104. 4

Question Number : 26 Question Id : 68634037502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148101. 1
686340148102. 2
686340148103. 3
686340148104. 4

Question Number : 27 Question Id : 68634037503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It consists of a series of platforms having suitable vertical drops along contours or on suitable graded lines
across the general slope of the land:

1. Bench terracing

2. Sub-Sailing

Lad

. Contour bunding
4. Strip cropping

Options :

686340148105. 1
686340148106. 2
686340148107. 3
686340148108. 4

Question Number : 27 Question Id : 68634037503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148105. 1
686340148106. 2
686340148107. 3
686340148108. 4

Question Number : 28 Question Id : 68634037504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following crop has the highest genetic yield potential among the food grain crops?

1. Oat

[ B

. Wheat

3. Rice

4. Maize



Options :

686340148109. 1
686340148110. 2
686340148111. 3
686340148112. 4

Question Number : 28 Question Id : 68634037504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o e 3T wrdl & 9 Yottt srafle fafaudr emar ardt wua o @ 8
1. 3¢

3. diddl

| )
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Options :

6863401481009. 1
686340148110. 2
686340148111. 3
686340148112. 4

Question Number : 29 Question Id : 68634037505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cattle belongs to which family ?

1. Equidae

[ )

. Cammelidae
3. Suidae

4. Bovildae

Options :

686340148113. 1
686340148114.2
686340148115. 3
686340148116. 4

Question Number : 29 Question Id : 68634037505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148113. 1
686340148114. 2
686340148115. 3
686340148116. 4

| )
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Question Number : 30 Question Id : 68634037506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Paul Leagons model of communication has how many elements?

1.

i

b2
[o}

4.4

Options :

686340148117. 1
686340148118. 2
686340148119. 3
686340148120. 4

Question Number : 30 Question Id : 68634037506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2
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Options :
686340148117. 1



686340148118. 2
686340148119. 3
686340148120. 4

Question Number : 31 Question Id : 68634037507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Agricultural Economies is related to :

1. Agriculture and rural areas

(B

. Science, art and business of cultivating crops

L¥ 5]

. Soil management
4. Farm management

Options :

686340148121. 1

686340148122. 2

686340148123. 3
686340148124. 4

Question Number : 31 Question Id : 68634037507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148121. 1
686340148122. 2
686340148123. 3
686340148124. 4

Question Number : 32 Question Id : 68634037508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



This 1s the process of lignin binding with cellulose and hemicellulose in the cell wall. thereby reducing their
digestibility:

1. Esterification
2. Lignification
3. Magnification
4, Transpiration
Options :
686340148125. 1
686340148126. 2

686340148127. 3
686340148128. 4

Question Number : 32 Question Id : 68634037508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148125. 1
686340148126. 2
686340148127. 3
686340148128. 4

Question Number : 33 Question Id : 68634037509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a breed of Goat?

1. Zafrabadi

[

. Jamunapari
3. Nellore

4. Gir



Options :

686340148129. 1
686340148130. 2
686340148131. 3
686340148132. 4

Question Number : 33 Question Id : 68634037509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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.elﬁi <
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Options :

686340148129. 1

686340148130. 2

686340148131. 3
686340148132. 4

| )
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Question Number : 34 Question Id : 68634037510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the effect in which there is an immediate effect of one plant’s pollen on the endosperm of a different
plant's seed.

1. Xenia effect

| B

. Xerophytic effect
3. Transpiration effect
4. Photosynthetic effect

Options :

686340148133. 1
686340148134. 2
686340148135. 3
686340148136. 4

Question Number : 34 Question Id : 68634037510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148133. 1
686340148134. 2
686340148135. 3
686340148136. 4

Question Number : 35 Question Id : 68634037511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Name the type of agroforestry cropping system in which trees. forage and livestock co-exist on the same land.

1. Silviculture

b2

. Silvopasture
3. Sisal
4, Silage
Options :
686340148137. 1
686340148138. 2

686340148139. 3
686340148140. 4

Question Number : 35 Question Id : 68634037511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U B Y1 R 38, TR 031 I3 & a9 $N T &1 5 T I S 91l 6
1. FedideR
BTl IE R
UK
4, Hierrt

Options :
686340148137. 1

| )
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686340148138. 2
686340148139. 3
686340148140. 4

Question Number : 36 Question Id : 68634037512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bower system of training 1s best suited for :
1. Grape
2. Apple
3. Pear

4, Plum

Options :

686340148141. 1
686340148142. 2
686340148143. 3
686340148144. 4

Question Number : 36 Question Id : 68634037512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148141. 1
686340148142. 2
686340148143. 3
686340148144. 4
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Question Number : 37 Question Id : 68634037513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following weeds is a root parasite?

1. Striga

| B

. Cuscuta
3. Loranthus

4. Arceuthobium

Options :

686340148145. 1
686340148146. 2
686340148147. 3
686340148148. 4

Question Number : 37 Question Id : 68634037513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

79 ¥ $19 91 @XUAaR 9IS &1 Ioitd! 87

Options :

686340148145. 1
686340148146. 2
686340148147. 3
686340148148. 4

Question Number : 38 Question Id : 68634037514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is an exotic breed of cattle?
1. Rhode Island Red
2. Plymouth rock
3. Jersey

4. Large White Yorkshire

Options :
686340148149. 1



686340148150. 2
686340148151. 3
686340148152. 4

Question Number : 38 Question Id : 68634037514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148149. 1

686340148150. 2

686340148151. 3
686340148152. 4

[
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Question Number : 39 Question Id : 68634037515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Embryo of monocot plant has only:

1. Four seed leaves

[

. Three seed leaves

L¥ 5]

. One seed leaf
4. Two seed leaves

Options :

686340148153. 1
686340148154. 2
686340148155. 3
686340148156. 4

Question Number : 39 Question Id : 68634037515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148153. 1
686340148154. 2
686340148155. 3
686340148156. 4

Question Number : 40 Question Id : 68634037516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s a nucleic acid that contains the genetic information to regulate the development and functioning of
living organisms and 1s the main component of chromosomes ?

1. Protein
2. Starch
3.RNA

4. DNA

Options :

686340148157. 1
686340148158. 2
686340148159. 3
686340148160. 4

Question Number : 40 Question Id : 68634037516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148157. 1
686340148158. 2
686340148159. 3
686340148160. 4

Question Number : 41 Question Id : 68634037517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In case of wheat, if water 1s available for only one irrigation. then it should be applied at :

1. Boot leaf stage

| B

. Jointing stage
3. Crown root mitiation stage
4. Dough Stage

Options :

686340148161. 1

686340148162. 2

686340148163. 3
686340148164. 4

Question Number : 41 Question Id : 68634037517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148161. 1
686340148162. 2
686340148163. 3
686340148164. 4

Question Number : 42 Question Id : 68634037518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It 1s group of genetically similar plants of a crop species that can be distinguished from other groups of plants
in the same species. Name that?

1. Crop residue

| )

. Crown-former
3. Cultivar
4, Crimson clover

Options :

686340148165. 1
686340148166. 2
686340148167. 3
686340148168. 4

Question Number : 42 Question Id : 68634037518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148165. 1

686340148166. 2

686340148167. 3
686340148168. 4

Question Number : 43 Question Id : 68634037519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

It 1s a market based approach to encourage the reduction of CO, entering atmosphere:

1. Carbon fixation

| B

. Carbon trading

[F¥]

. Carbon exchange
4. Carbon cycle

Options :



6863401481609. 1
686340148170. 2
686340148171. 3
686340148172. 4

Question Number : 43 Question Id : 68634037519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148169. 1
686340148170. 2
686340148171. 3
686340148172. 4

Question Number : 44 Question Id : 68634037520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s not the functions of the atmosphere?

1. Sources of water vapour fails in precipitation.

| )

. Carbon dioxide exchange by photosynthesis.

Lad

. Protection of Earth's surface from harmtul energy of Sun
4. Occurrence of seasons and day length variation

Options :

686340148173. 1
686340148174. 2
686340148175. 3
686340148176. 4

Question Number : 44 Question Id : 68634037520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148173. 1
686340148174. 2
686340148175. 3
686340148176. 4

| )

[FN]

=

Question Number : 45 Question Id : 68634037521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s the particle size of clay so1l?

1.0.2 - 0.06 mm

[ )

.0.07 -0.002 mm
3.0.001 - 0.002 mm
4, 2.00-0.20 mm

Options :

686340148177. 1

686340148178. 2

686340148179. 3
686340148180. 4

Question Number : 45 Question Id : 68634037521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& JaT H FHUI BT PR HH T 37

1. 0.2 -0.06 mm

|

. 0.07 -0.002 mm
3. 0,001 - 0.002 mm

4. 2.00-0.20 mm

Options :
686340148177. 1



686340148178. 2
686340148179. 3
686340148180. 4

Question Number : 46 Question Id : 68634037522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If the price is higher than the equilibrium price. then:

1. Quantity demanded is greater than quantity supplied

[ )

. Quantity supplied is greater then quantity demanded

L]

. The price will increase over time
4. The price will decrease overtime

Options :

686340148181. 1
686340148182. 2
686340148183. 3
686340148184. 4

Question Number : 46 Question Id : 68634037522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148181. 1
686340148182. 2
686340148183. 3
686340148184. 4

Question Number : 47 Question Id : 68634037523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An elasticity measures:

1. How prices affect inflation

2

. The law of supply

3. How economics influences the stock marlket

=y

. How responsive one variable is to another variable

Options :

686340148185. 1
686340148186. 2
686340148187. 3
686340148188. 4

Question Number : 47 Question Id : 68634037523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148185. 1
686340148186. 2
686340148187. 3
686340148188. 4

Question Number : 48 Question Id : 68634037524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A comparison of market equilibrium points before and after a change in an economic variable and 1s known as:

1. Demand Statics

[

. Comparative statics

L¥ 5]

. Equilibrium quantity

e

. Equilibrium price

Options :
686340148189. 1



686340148190. 2
686340148191. 3
686340148192. 4

Question Number : 48 Question Id : 68634037524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U ey IRTES & U ¥ SR & I-qa-Tdd (6 & Jgd aul 818 $I 3awd] B qa-TdD
T Pl o
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Options :

686340148189. 1
686340148190. 2
686340148191. 3
686340148192. 4

Question Number : 49 Question Id : 68634037525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The measure of detachment and movement of soil minerals and organic matter by wind and water 1s:

1. Corrosion

| )

. Erosion
3. Protection
4. Horizon

Options :

686340148193. 1
686340148194. 2
686340148195. 3
686340148196. 4

Question Number : 49 Question Id : 68634037525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148193. 1
686340148194. 2
686340148195. 3
686340148196. 4

Question Number : 50 Question Id : 68634037526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which gases are responsible for global warming?

1. Carbon monooxide (CO).Chlorine (Cl,,

[

. Hydrogen (H;). Nitrogen N,. Sulphur (S)

L%]

. Helium (He). Oxygen (O,)
4. Carbon dioxide (CO,), Methane (CH,)

Options :

686340148197. 1
686340148198. 2
686340148199. 3
686340148200. 4

Question Number : 50 Question Id : 68634037526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 5 O i <t 1 a8 STRar! 62
1. DIETHFISATRIES (CO) TR (Cly,

2. BASIGH (H,) TGN (N,). b3 (S)

3. BIETAH (He), STERISH 19 (0,)

4, Ba SIZHFES (CO,), HIEH (CHy)



Options :

686340148197. 1
686340148198. 2
686340148199. 3
686340148200. 4

Question Number : 51 Question Id : 68634037527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which chemical compound 1s formed when we do tetrazolium chloride test in seed?

1. Chromozen

| B

. Tetrazen
3. Formazen

4, Pharmazen

Options :

686340148201. 1
686340148202. 2
686340148203. 3
686340148204. 4

Question Number : 51 Question Id : 68634037527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

od a1 § SeTaifergd FiRIgs URIEU 6 § dl (9 YHR Pl IS IS §d1 57
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2T

~
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Options :

686340148201. 1
686340148202. 2
686340148203. 3
686340148204. 4

| )

[#5]

Question Number : 52 Question Id : 68634037528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A measurement of energy content of a food or plant material is :

1. Co-content in form of energy

2

. Amount of energy required to increase the temperature of 10 gram of water by 20 degree Celsius.

3. Calorie

=y

. Bio-energy

Options :

686340148205. 1
686340148206. 2
686340148207. 3
686340148208. 4

Question Number : 52 Question Id : 68634037528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148205. 1
686340148206. 2
686340148207. 3
686340148208. 4

Question Number : 53 Question Id : 68634037529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A group of firms that join together to regulate price and production decisions is:

1. Collusion

2

. Oligopoly
3. Cartel
4, Transistor

Options :
686340148209. 1



686340148210. 2
686340148211. 3
686340148212. 4

Question Number : 53 Question Id : 68634037529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148209. 1
686340148210. 2
686340148211. 3
686340148212. 4

Question Number : 54 Question Id : 68634037530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s not a method of ficld drainage?
1. Land farming and land smoothening
2. Land leveling and bedding system
3. Open ditches and Levees
4. Irrigation management transfer and participatory irrigation management
Options :
686340148213. 1
686340148214. 2

686340148215. 3
686340148216. 4

Question Number : 54 Question Id : 68634037530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340148213. 1
686340148214. 2

686340148215. 3
686340148216. 4

Question Number : 55 Question Id : 68634037531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the incorrect statement.

1. Industry 1s a group of firms that produce and sell the same product.

| )

. Break even pomt occurs when marginal revenue 1s equal to marginal cost.
3. Shut down point is the level of output at which marginal revenue is equal to average variable cost.
4. Market Segmentation is the ability to affect the price of output.

Options :

686340148217. 1

686340148218. 2

686340148219. 3
686340148220. 4

Question Number : 55 Question Id : 68634037531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340148217. 1
686340148218. 2
686340148219. 3
686340148220. 4

Question Number : 56 Question Id : 68634037532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the incorrect statement.
1. Plant pathogens are living organisms that cause biotic plant diseases

. Some plant parasites known as obligate parasite. complete their life cycle without a host.

[ )

3. Saprophytes are organisms that use dead organic matter to obtain their nutrients.

4. Fungi are organisms composed of filamentous threads called hiyphae that absorb nutrients.
Options :
686340148221. 1
686340148222. 2

686340148223. 3
686340148224. 4

Question Number : 56 Question Id : 68634037532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT HYA PTG B |
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Options :

686340148221. 1
686340148222. 2
686340148223. 3
686340148224. 4

Question Number : 57 Question Id : 68634037533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the disease triangle with three necessary components for a plant disease to occur.

1. Symptom. pathogen. steriod

| B

. Susceptible host, pathogen. favorable environment
3. Pathogen. steroid. susceptible host
4. Favorable environment, symptom., steroid

Options :

686340148225. 1

686340148226. 2

686340148227. 3
686340148228. 4

Question Number : 57 Question Id : 68634037533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148225. 1
686340148226. 2
686340148227. 3
686340148228. 4

Question Number : 58 Question Id : 68634037534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the incorrect statements:
1. Financial support is related to direct payments and price supports so it is also known as commodity
payments.

2. Disaster payments are emergency payments to farmers when yields are very low due to poor growing
conditions

3. Conservative payments have aim to reduce the production of crops on environmentally sensitive lands.
4, Market equilibrium is a situation in which the market price does not equate supply and demand.
Options :
686340148229. 1
686340148230. 2

686340148231. 3
686340148232. 4

Question Number : 58 Question Id : 68634037534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT HYU PTG B
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Options :

686340148229. 1
686340148230. 2
686340148231. 3
686340148232. 4

Question Number : 59 Question Id : 68634037535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the incorrect statements.

1. CAM plants are Crassulacean Acid Metabolism plants

| )

. CAM plants use the C4 plants pathway at might
3. CAM plants do not use C; plants pathway in the day.
4. C; plants use the carbon cycle. It is common in temperate plants.
Options :
686340148233. 1
686340148234. 2

686340148235. 3
686340148236. 4

Question Number : 59 Question Id : 68634037535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. CAM UIY {31 8 ¢, Urey =sh Pl Wil gl Rd 6 |
4. C; UI9 STET <5h T YA B & AUl T CHRE & H S Uid 5|

[

Options :

686340148233. 1
686340148234. 2
686340148235. 3
686340148236. 4

Question Number : 60 Question Id : 68634037536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Characteristics like slender, branched hyphae, spore formation. gram positive, production of antibiotics are
associated with:

1. Xanthomonads

2. Xylella

3. Clavibacter

4. Strepromyces
Options :
686340148237. 1
686340148238. 2

686340148239. 3
686340148240. 4

Question Number : 60 Question Id : 68634037536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148237. 1
686340148238. 2
686340148239. 3
686340148240. 4

Question Number : 61 Question Id : 68634037537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Modern economics uses which type of consumer theory?

1. Cardinal utility

o

2. Ordinal utility
3. Total Utility
4. Public Utility

Options :



686340148241. 1
686340148242. 2
686340148243. 3
686340148244. 4

Question Number : 61 Question Id : 68634037537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148241. 1

686340148242. 2

686340148243. 3
686340148244. 4

Question Number : 62 Question Id : 68634037538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which nutrient considered as macro nutrient?

1.Zn
2 Fe
LK
4.Cl

Options :

686340148245. 1

686340148246. 2

686340148247. 3
686340148248. 4

Question Number : 62 Question Id : 68634037538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 7 @ oy Uiy &1 YeadiNe 9T ST 82

1.Zn
2. Fe
3. K
40

Options :

686340148245. 1

686340148246. 2

686340148247. 3
686340148248. 4

Question Number : 63 Question Id : 68634037539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Genetic Pest management does not use :

1. Handpicking

| B

. Genetic Engineering

Lad

. Plant Breeding
4. More resistant to important plant pests

Options :

686340148249. 1
686340148250. 2
686340148251. 3
686340148252. 4

Question Number : 63 Question Id : 68634037539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HARIS e Ya=M 49 &1 9ai 981 &l o:
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Options :
686340148249. 1



686340148250. 2
686340148251. 3
686340148252. 4

Question Number : 64 Question Id : 68634037540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the incorrect statements:
1. Law of Diminishing Marginal returns says that an additional unit of one input are combined with a fixed

amount of other inputs, a point is always reached at which the additional output from the last unit of
added unit will decline.

[

. Major reality of economics is scarcity
3. Collusion 1s a situation 1 which firms jointly determine the price
4. Absolute advantage 1s higher cost of production for a goods or service.

Options :

686340148253. 1
686340148254. 2
686340148255. 3
686340148256. 4

Question Number : 64 Question Id : 68634037540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148253. 1
686340148254. 2
686340148255. 3
686340148256. 4

Question Number : 65 Question Id : 68634037541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the incorrect statements:

1. In India there are 30 breeds of cattle. 10 breeds of buffaloes and 20 breeds of goats.

2. The cattle, buffalo and goat population is 408.1 million and contribute over 104 million tons of milk
produced in the country.

3. Exotic breeds of cattle are Holstein - Friesian, Jersey, Brown Swiss, Red Dane.

4. Milch breeds of buffaloes are Jamunapuri. Surti, Beetal. Zalawadi but milch breeds of goat are Murrah.
Bhadawari. Jersey, Sahiwal

Options :
686340148257. 1
686340148258. 2

686340148259. 3
686340148260. 4

Question Number : 65 Question Id : 68634037541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT HYU PTG B
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Options :

686340148257. 1
686340148258. 2
686340148259. 3
686340148260. 4

Question Number : 66 Question Id : 68634037542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other 1s labelled as Reason (R)

Assertion (A): Organic matter is the portion of the soil that includes animal and plant residues in various
stages of decay. Grassland soils have highest organic matter content.

Reason (R): The Organic matter content of a soil varies greatly depending on the climate Soil microbes rapidly
digest compounds such as starch, cellulose. Sugars and amino acids.

In the light of the above statements. choose the most appropriate answer from the options given below:

—

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

b2

. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

L]

. (A) 15 correct but (R) 1s not correct
4. (A) 1s not correct but (R) 1s correct

Options :

686340148261. 1
686340148262. 2
686340148263. 3
686340148264. 4

Question Number : 66 Question Id : 68634037542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340148261. 1
686340148262. 2
686340148263. 3
686340148264. 4



Question Number : 67 Question Id : 68634037543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other 1s labelled as Reason (R)

Assertion (A): Mechanical measures include contour bunding. contour cultivation and bench terracing.

Reason (R): Mechanical measures consist of destruction of mechanical barriers across the line of flow of
water,

In the light of the above statements. choose the most appropriate answer from the options given below:

—

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

LFN]

. (A) 1s correct but (R) 1s not correct

s

. (A) 1s not correct but (R) is correct
Options :

686340148265. 1

686340148266. 2

686340148267. 3
686340148268. 4

Question Number : 67 Question Id : 68634037543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 3l Py Rr T E. e oifireys & w0 H fafEd € J g9 S9% oRU B S A,
iy e fafdl & e € - He. d¢. der Gl auT &4 SfET
SRT: it fafer & oe vaTe Al R Tifie arursl 31 @ o3 9ieed 6
SWRIdd PYT & 3l H, i 3T 7 fadsedi § 4 981 IR &1 98 P,
1. AR R G 9 E. R R. A DI el AR §
2. A SRR EF IAE. AR R, A DI T8l ARA T8l ¢

3.AYUE APIR T E

4 ANTHE. AfPTR IT T

Options :

686340148265. 1
686340148266. 2
686340148267. 3
686340148268. 4



Question Number : 68 Question Id : 68634037544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other 1s labelled as Reason (R)

Assertion (A): Soil acidity can be caused due to loss of Caleium & Magnesium salts in areas of high rainfall.

Reason (R): CO, formed because of respiration reacts with water to form carbonie acid. which reacts with

insoluble soil minerals rich in bases & converts them in soluble forms. These soluble forms are lost through
leaching.

In the light of the above statements. choose the most appropriate answer from the options given below:

oy

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

[ ]

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

L¥N]

. (A) 1s correct but (R) 1s not correct
4. (A) 1s not correct but (R) is correct

Options :

686340148269. 1

686340148270. 2

686340148271. 3
686340148272. 4

Question Number : 68 Question Id : 68634037544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i gl 2 U T §. U Sy & w4 4 (oEd ¢ dl g8-1 396 BRUI & =Y 4,
ey 3= aul &3 § gaT speiiadr S’y a1 HfRry aqul & gy 4 widd gl

FRT: 457 I T €O, T ¥ [5a1 SR BIa-E S F1d1 © S SRS &R TR Hal @i 9
a1 R 38 go-Riia SfaedT H uikaldd &l o | U8 Ya-Riia o' Hela- gRI g9 ol offd! o

IWRIET BYF & 3Tl 1. d U MU f[dheqi & I T! IR DI 98- B IT9IU;
AMRRIATAR, AR R AP Tol TR §
ARRIFITIE. R R AT Tel T T8l &

ATIR AfPTR T T

oy

[

LFS]

4. A TR ABTR I

Options :

686340148269. 1
686340148270. 2
686340148271. 3



686340148272. 4

Question Number : 69 Question Id : 68634037545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reasons (R)

Agsertion (A): Fungi 1s the largest microbial biomass in the soil. Fungi are very effective decomposers of plant
material

Reason (R): Bacteria are the most abundant soil inhabitants. Bacteria are active in the decomposition of
organic matter present in plant material.

In the light of the above statements. choose the most appropriate answer from the options given below:

—

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

b2

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

L]

. (A) 15 correct but (R) 1s not correct
4. (A) 1s not correct but (R) 1s correct

Options :

686340148273. 1

686340148274. 2

686340148275. 3
686340148276. 4

Question Number : 69 Question Id : 68634037545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- & By 3T U §. U 31y & & T fafad ¢ ol 3R 39S BRU & =u T,

HfYSY: BP3 al B Jalltid GeHuliad SaHR & | BUHa Uray YTl o1 9ishy suues i g
SRT: SIa1Y] Jal B Halltied o ardl § | Siiar] urey Y&l & Iufyd erdi-ie garf &1 9ad
WWL%I

SWRIHT BYF & 3Tl 1, Ard QU U f[dhed] § I Tl IR &I 94 B IT9IU;
1. AR REH TUE, IR R. A DI ol TR §
2. ASRREFI U E, 3R R. A D! Gl AR 78T &

3. A9 e, dfbT R 3O

4 AT E. AfPTR IO T

Options :
686340148273. 1



686340148274. 2
686340148275. 3
686340148276. 4

Question Number : 70 Question Id : 68634037546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other 1s labelled as Reason (R)

Assertion (A): Total cost is the sum of all payments that a firm must make to purchase the factors of
production. Total cost is TC = Total fixed Costs(TFC) + Total Variable Cost (TVC).
Total cost vary with level of production.

Reason (R): Total fixed Costs(TFC) does not vary with level of production.

In the light of the above statements. choose the most appropriate answer from the options given below:

—

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

[#5]

. (A) 1s correct but (R) is not correct

s

. (A) 1s not correct but (R) is correct

Options :

686340148277. 1
686340148278. 2
686340148279. 3
686340148280. 4

Question Number : 70 Question Id : 68634037546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR P T e @ aimyE S Eo i fEa e d s STF U U H,

HFUSY: T God T8 YAW YT BT T ¢ O UF BH SdIe- ged & aus Bl ol I $d o4
(TC) = %d (&R Tl (TFC) + o dRUE Hed (TVC)

$d O Jcdled o Wk IR agadl gl

HROT: JUI FRR Yed (TFC) I3 & &R | R 81§

SWRIdd PYF o 3fdle H, i f3U 7 fadedi § 4 gl IR &1 98 Piforg;
1. A SR R &I 9 T, IR R. A P Hel T ¢
2 A SRR EH IAE. SRR A DI Hol ARA ol &

3. AT e, AfTR 3TTE

4 AIEIe, AfFTR IS

Options :

686340148277. 1
686340148278. 2
686340148279. 3
686340148280. 4

Question Number : 71 Question Id : 68634037547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other 1s labelled as Reason (R)
Assertion (A): A price support is a minimum price set by the government for a specified good or service.
Reason (R): A price ceiling 1s a maximum price set by the Government for a specified good or service.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
3. (A) is correct but (R) 1s not correct
4. (A) 1s not correct but (R) 1s correct
Options :
686340148281. 1
686340148282. 2

686340148283. 3
686340148284. 4



Question Number : 71 Question Id : 68634037547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- g Y= Ru MU B, U siiliey= & 4 1 fofEd § o R 39¢ dRU & U &,
STUHY: HIHd Yl 98 a9 HI8d § ol TR ARy a% duT 44T & o Had Sl 5|
PRUT: S DT W) 98 HHad Jed ¢ ol IRoR ARy a%] siydl 94l o Had &l o
SWRIad BYUF & Al J, H 6y T fadedl & I Hel 3 &1 999 DIT:

1. A R RS 9 5. R R. A D! el o 3
A SRR I A E. IR R. AT IE AT TS ©
ATIE. APIR AT

4 AT E. AfPTR IO T

| )

Lag

Options :

686340148281. 1
686340148282. 2
686340148283. 3
686340148284. 4

Question Number : 72 Question Id : 68634037548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other 1s labelled as Reason (R)

Assertion (A): Marginal Revenue is the addition to total revenue from selling one more unit of output

MR:ﬂ

here TR=Total revenue in Rs.

Y= output in units.

Reason (R): Total revenue is the amount of money received when the producer sells the product. TR =Y -Py
P},Z Price of output (in Rs./umit)

Y= output

In the light of the above statements. choose the most appropriate answer from the options given below:

—

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B

. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

L¥ 5]

. (A) 15 correct but (R) 1s not correct
4. (A) 1s not correct but (R) 1s correct

Options :

686340148285. 1
686340148286. 2
686340148287. 3
686340148288. 4

Question Number : 72 Question Id : 68634037548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 3l Py Rr T E. e oifireys & w0 H fafEd € J g9 S9% oRU B S A,

ST Y: Hifsia 30 oo 309G A U SR gFe & Hrgeye ol fawh! o1 a8 MR:%

BRUT: dl 10-g 4 Bl a5 HEAT & Sl SAGD B 3U- Sl Dl g9+ WU gldi g1 TR =Y-Py
JRIFT BYF & AP H, Ard [SU U [dHed] H T Tl IR & 99— D I[91U:

T8l TR = 304 (Rs )
Y = 3fi3eye gfHe §

1. A SRR EHF TR, 3INR. AD! Tl A &
AJRREH IO T, IR R AP T O Tel &

AT E dfpTRr 3T g

[

5]

4. A TR ABTIR T

Options :

686340148285. 1
686340148286. 2
686340148287. 3
686340148288. 4

Question Number : 73 Question Id : 68634037549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the crops in increasing order of their water requirements ?

A Rice

B. Sorghum

C. Maize

D. Wheat

E. Finger Millet

Choose the correct answer from the options given below:

1.L.C<D<E<B<A

2

D<E<B<C=<A
3 D<E<A<B<C
4. D<C<E<B<A
Options :

686340148289. 1
686340148290. 2



686340148291. 3
686340148292. 4

Question Number : 73 Question Id : 68634037549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 BOal &1 3% od AaHdl & g¢d HH H iford & -

A Hldd
B. =X
C. HIPI1

D. g
E. 00
=i fau U f[d@edl § O gl 3Tk &1 944 HIas:

1.C<D<E<B<A

[ ]

D<E<B<C<A
3. D<E<A<B=<C
4. D<C<E<B<A

Options :

686340148289. 1

686340148290. 2

686340148291. 3
686340148292. 4

Question Number : 74 Question Id : 68634037550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sequence of perfect competition of a market situation is:

A. Example-dairy products, wheat, corn. mushrooms
B. freedom of entry but not exit

C. a large number of buyers and sellers

D. no information sharing

E. a homogeneous product.

Choose the correct answer from the options given below:

1. A, B. and C, only
2. AC, and E. only
3.B.C. and E only

4.B.C.D. and E only



Options :

686340148293. 1
686340148294. 2
686340148295. 3
686340148296. 4

Question Number : 74 Question Id : 68634037550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IO Ui BT eR e e HH Eiare .

1y

A. 3T - B IS, TIg, . A=A
B. 311 &I TcAdT gl R o I el

C. WRIGER quT fasharsdl &1 it Fw
D. BIg BRI A5

E. U 99 9dE

i fou T fasedi o 9 el SR &1 994 Hifoi:
1. AT A, B. 3R C
2. PIAA. C 3R E
3.%ad B, C IRE
4.%4dd B.C.D 3RE

Options :

686340148293. 1
686340148294. 2
686340148295. 3
686340148296. 4

Question Number : 75 Question Id : 68634037551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Powdery mildew disease in plants caused by which of the following?

A. Erysiphe

B. Sclerospora
C. Podosphaera
D. Sphaerothica
E. Plasamopara

Choose the correct answer from the options given below:

1LAB&C

b2

LA C&ED
3.3JAC&E
4 B,C.D&E

Options :

686340148297. 1
686340148298. 2
686340148299. 3
686340148300. 4

Question Number : 75 Question Id : 68634037551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qreyl § U3 Hesyg A1 7 (9 & $RUI Bl © -

A I
B. WRIRRGRT
C. OISR
D. ThgiepT
E. WEOR]

- fau Y faw et & 9 Tel ST &1 9 Dife:

LABJYUIC

2ACOYUD

JACAUE

4. B.C.DJUIE
Options :
686340148297. 1
686340148298. 2

686340148299. 3
686340148300. 4



Question Number : 76 Question Id : 68634037552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange these programs according to their year of launch?(Oldest to latest)

A. Community Development Program
B. Panchayat Raj

C. National Extension Service

D. Drought prone area program

E. High Yielding Varieties program

Choose the correct answer from the options given below:

1.C<A<B<E<D
2ZA<C<B<E<D
3E<D<A<B=<C
4 D<C<A<E<B
Options :
686340148301. 1
686340148302. 2

686340148303. 3
686340148304. 4

Question Number : 76 Question Id : 68634037552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ STl BT 3P AR B & auTIR AGIId B (RA ° 94 B TRB)

A IO foeTg iy
B. Gl 3o

i f5u U [doed] | U Il 3R &1 944 S I1alU:
1.C<A<B<E<D
2.A<C<B<E<D
3.E<D<A<B<C
4. D<C<A<E<B

Options :
686340148301. 1



686340148302. 2
686340148303. 3
686340148304. 4

Question Number : 77 Question Id : 68634037553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The proper sequence of the given process in:

A. to produce sugars

B. that are stored

C. they capture from the sunlight
D. use the energy

E. in respiration by the plant

Choose the correct answer from the options given below:

1.C.D.A.E.B
2.B.C.D.A.E
3.D.C.A.B.E
4.A.B.C.D.E

Options :

686340148305. 1
686340148306. 2
686340148307. 3
686340148308. 4

Question Number : 77 Question Id : 68634037553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



f&g T2 v B! el A H o

A IEHI IAES
B.dg URd Sl wrdt e
C.dd A UBUI B &
D. Sl BT UgT

E. UleYl gRI 494 |

A fau e fawedi # 9 Hel S &1 99 Sifon:
1.C,D,A,E,B
2.B.C,D.A.E
3.D,C.A.B.E
4.A,B,C,D,E

Options :

686340148305. 1
686340148306. 2
686340148307. 3
686340148308. 4

Question Number : 78 Question Id : 68634037554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Winter Solstice and is on:

A. In the Southern hemisphere it 1s 21 December

B. In the Northern hemisphere it 1s 21 June

C. It 1s just opposite situation that occurs in Summer solstice
D. The shortest day of the year

Choose the correct answer from the options given below:

1. C and D only

[ ]

. A and B only
3.A. B and C only

4.B. C and D only

Options :

686340148309. 1
686340148310. 2
686340148311. 3
686340148312. 4



Question Number : 78 Question Id : 68634037554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3fid Sy 8 U SHI Il © -

A. Sf&n Tielg # 98 21 o Ul

B. TR Tidils # g% 21 fegmr &

C. U8 3fawT diwy Oieafey & sawr & faudid g
D. T4 &1 J&d BieT fea

A fau 7T fawedi # 9 Hel SR &1 99 Difo:
1. %ad C IR D
2.%ad ASRB
3.%dd A.B3IRC
4.%ad B.C3IRD

Options :

686340148309. 1
686340148310. 2
686340148311. 3
686340148312. 4

Question Number : 79 Question Id : 68634037555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following are organic manure?

A. Farmyard manure

B. Urine manure

C. Ammonium Sulphate
D. Murate of Potash

E. Single Super Phosphate

Choose the correct answer from the options given below:

1. A& B Only

2.B & C Only

3.C & D Only

4.D & E Only
Options :

686340148313. 1
686340148314. 2



686340148315. 3
686340148316. 4

Question Number : 79 Question Id : 68634037555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T I oEAe Qe o1 90 &9 -
A BHIE @5
B. IH @E
C. HHIHTE gethe

D. JICR] &1 ’XC
E. FHTd R BRhe

i< fU 7T fae el § 9 el STk &1 994 Bifoiu:
1. Pdd ATUTB
2. PagBAUIC
3. Had C AU D

4. FAADTYUTE

Options :

686340148313. 1
686340148314. 2
686340148315. 3
686340148316. 4

Question Number : 80 Question Id : 68634037556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Rhizobium bacteria is responsible for nitrogen fixation in soyabean.

Statement II: R. japonicum bacteria is found in nodules of soyabean.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II is incorrect

4, Statement [ is incorrect but Statement II is correct

Options :



686340148317. 1
686340148318. 2
686340148319. 3
686340148320. 4

Question Number : 80 Question Id : 68634037556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aAHU YU E:
HYF I A1 T A5SIa3H Sa1] Age o R0 Hal g |
®Y I1: R, FUIHHH Slla] Frrei= & Tiidersi O urr ol ¢ |
SRIGd YA & AP H, A [SU U [dhed] § T ol 39 &1 994 DI

1. PUTI ARSI TS
2 Y1 AR GHI A S

3. PYT I e, AfPT PUT I T B

4, PYTI 3T B, AT YT I I ©

Options :

686340148317. 1
686340148318. 2
686340148319. 3
686340148320. 4

Question Number : 81 Question Id : 68634037557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement [: Training & visit system was introduced in India in 1974
Statement II: The characteristics of this system are professionalism. single line administration & close
supervision.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement [ is incorrect but Statement I1 is correct

Options :



686340148321. 1
686340148322. 2
686340148323. 3
686340148324. 4

Question Number : 81 Question Id : 68634037557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3l By 3L
®YF I URd 4y 1974 § 71 o1 [afe onawr anp &1 it |
®Y I1: 5T 0 DI = [AR9ard 99 JORIARE T U L& W 9= © |
SWRIad BYUF & Al J, H 6y T fadedl & I Hel 3 &1 999 DIT:
1. PY 1 R 11 S I &
2. BY [ AR 11 ST ST &

3. PY I T ©. dfb PUT 11 3T o

4 PYT I I . AT PYT I I &

Options :

686340148321. 1
686340148322. 2
686340148323. 3
686340148324. 4

Question Number : 82 Question Id : 68634037558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Extension education do not help in adoption and diffusion of new technology.

Statement II: The innovations are of no use unless they are practically used by farmers.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement I1 is correct

Options :



686340148325. 1
686340148326. 2
686340148327. 3
686340148328. 4

Question Number : 82 Question Id : 68634037558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aAHU YU E:
YT 1: faTR a1 75 dH-1% & TR U T & @4 5 0eg Tol ddl g |
SYF I1: TS foha diH Wichar g =1 &L dl g5 i § |
SRIGd YA & AP H, A [SU U [dhed] § T ol 39 &1 994 DI
1. PYT1 AR 1S T &
2. HYA 1 IR 11 ST ST §

3. PYT I e, AfPT PUT I T B

4, PYTI 3T B, AT YT I I ©

Options :

686340148325. 1
686340148326. 2
686340148327. 3
686340148328. 4

Question Number : 83 Question Id : 68634037559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Balanced use of nutrients enhances fertilizer use efficiency.

Statement II: Phosphorous use efficiency does not increase with N and K application along with P.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| B

. Both Statement I and Statement II are incorrect

LF%]

. Statement [ is correct but Statement II is incorrect

4. Statement [ 1s incorrect but Statement II is correct

Options :



686340148329. 1
686340148330. 2
686340148331. 3
686340148332. 4

Question Number : 83 Question Id : 68634037559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aAHU YU E:
SYT I: UINF a8 ! &1 Jqa 3 T Hao1 1 SUdiiar ggrd gl
SYF I1: BRGIRY FaIT SUTIRI & N qUTK & P & 914 YT I $13 gfa el il o
SRIGd YA & AP H, A [SU U [dhed] § T ol 39 &1 994 DI
1. P ARG 9 &
2. BYF 1 R I I 3T 5

3. PYT I e, AfPT PUT I T B

4. PYTI 3T B, AP PYT I T ©

Options :

686340148329. 1
686340148330. 2
686340148331. 3
686340148332. 4

Question Number : 84 Question Id : 68634037560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Soil reaction explains the concentration of hydrogen ions (H ") in soil. Soil reaction is also
described as pH. The pH scale runs from 0 to 14,

Statement II: A pH of 7 is neutral. a pH of 0 up to less than 7 is acidic and pH of greater than 7 to 14 1s basic or
alkaline.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[ )

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

686340148333. 1
686340148334. 2
686340148335. 3
686340148336. 4

Question Number : 84 Question Id : 68634037560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A DY UL E

®YF I T2 [Tt 3TH gSIoN AT (H) &1 gel § 0E Sfd 1 o franeil & pu & ot g5 fsar
ST &1 pH &1 a0 F 14 BT B

HYTII: 7 pH LA 6. 0 Y §¢H 7 4 H pH ST qul 7 4 WP 14 9% pH §RIT A5 |
SWRIgd HUH & 3fale J, H= Ay MU fasedl & I Hgl 3ok &1 944 DIfT:

1. PYT1 R 11 S I &

2 HYA T IR 11 ST S &

3 PYT IS, AfPT PYT I HTT &

4. PYTI T B, AT YT I T &

Options :

686340148333. 1
686340148334. 2
686340148335. 3
686340148336. 4



Question Number : 85 Question Id : 68634037561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The number of farms which was more than six million in the year 1920 has declined by more than
sixty percent in the year 2002.

Statement II: The number of farmers has also dramatically declined . Now about one percent of total
population of world is engaged in farming in the year 2002.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct

Options :

686340148337. 1
686340148338. 2
686340148339. 3
686340148340. 4

Question Number : 85 Question Id : 68634037561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aAHU YU E:
HYT1: a9 1020 T W ol S MBifeaa I i@ 4 9 2002 T 60% I 31 g2 W §|
®Y I1: [ Dl Hwr 1l diigdl § B8 gg o1 a9 2002 T [ay SHI=A1 1 1% 4 0 SN o J Had o
QRITT BYF & AP H, Ard [SU U [dhFed] H U Tal I &l 99 B I[910;
1. PYT1 AR 1S T &
2. BY 1 R 11 ST S &

3. PYT IS, AfPT PUT I T B

4. DY IGT B, AfT PYT I I ©

Options :

686340148337. 1
686340148338. 2
686340148339. 3
686340148340. 4



Question Number : 86 Question Id : 68634037562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Organic mulches in is conserve soil moisture by reducing evaporation.

Statement II: Only organic matters are used for mulching around the trees.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement I1 is correct

Options :

686340148341. 1
686340148342. 2
686340148343. 3
686340148344. 4

Question Number : 86 Question Id : 68634037562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Al By QUL E:
®Y I: HIa D Hod Y Ta1 HI 941 DI arsicdord I 9191 5 Haodll o
SYF I1: &t & IR TR Afed & Sad Pe-d Terf & wEi g gl
IIRIgd BUF & el J, = ey 7T fasedl & I Fg1 3w &1 997 DI
1. FY 1 AR 11 G 9 &
2. BY 1 AR 11 ST ST T

3. PYT I e, AfPT PYT 11 T B

4 BYTI IS, AT FYT I TT S

Options :

686340148341. 1
686340148342. 2
686340148343. 3
686340148344. 4



Question Number : 87 Question Id : 68634037563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which free trade agreements are formed to reduce trade barriers between nations?

A. World Trade Organization.

B. European Economy Community.

C. European Union.

D. North American Free Trade Agreement.
E. United States Department of Agriculture.

Choose the correct answer from the options given below:

1. A Only
2.A. B & D Only
3.B.C & E Only
4. A& D Oanly

Options :

686340148345. 1
686340148346. 2
686340148347. 3
686340148348. 4

Question Number : 87 Question Id : 68634037563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ & Hed HTUR a1e/1 g P & [T I |1 e HTIR FHAI g2
A, f3% oOTOR TTT6+
B. TRITYA sifdfes srgf-e
C. QAT I9 q
D. TRl HHRDT Tad AR FHA
E. Jgdd 3P BT HiY faum

i< fU T faeedi § 9 el STk &1 994 Hifoiu:
1. $Pdd A
2. Had A, BAYID
3.%dd B.C dUTE

4. FAA A, AUTD

Options :



686340148345. 1
686340148346. 2
686340148347. 3
686340148348. 4

Question Number : 88 Question Id : 68634037564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In India, agencies that promote organic farming are:

A. APEDA
B. Ministry of Commerce
C. National Steering committee

D. Agri Business Committee
E. GEAC

Choose the correct answer from the options given below:

1.A.D & E Ounly
2.A.B.C, &D Only
3.A.B & C Only
4.A.C & D Only

Options :

686340148349. 1
686340148350. 2
686340148351. 3
686340148352. 4

Question Number : 88 Question Id : 68634037564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIE1P Wdl BT YedrT 2 gt YRdg I

A APEDA

B. BT HATe™
C. wafar gftrdt

D. Ul fagrg gfafa
E. GEAC

=i fau U f[d@redl § O gl 3Tk &1 944 DIu:

1. PAAA. DAYUTE

2. AT A, B.CAUID
3. FAT A, BAYUIC

4, AT A, CTUID

Options :

686340148349. 1
686340148350. 2
686340148351. 3
686340148352. 4

Question Number : 89 Question Id : 68634037565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mulching is an important agronomic practice that:

A, Improves soil structure

B. Increases runoff & soil losses
C. Conserves moisture

D. Increases soil erosion

E. Facilitates infiltration.

Choose the correct answer from the options given below:

1. A& B Only

b2

.A.B.C. & D Only
3.A. C &E Ouly
4.C.D & E Ouly

Options :

686340148353. 1
686340148354. 2
686340148355. 3
686340148356. 4



Question Number : 89 Question Id : 68634037565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. J31 YT B JURAT ¢ |

B. 741 519 dYT &Ic §81d §¢1dl ¢
c. 74! & Tgurdr g

D. &1 306 vedl o

E. 30 § 980 g

i fou T fasedi o 9 el SR &1 994 Hifoi:
1. hdd AdUIB

2. FATA.B.CAYUID

3. FAA A, CIAYUE

4. %qd C.DAYUTE

Options :

686340148353. 1
686340148354. 2
686340148355. 3
686340148356. 4

Question Number : 90 Question Id : 68634037566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements about different types of cycles i plants.

A. Nitrogen cycle 1s a cycle that describe the transition of nitrogen from atmospheric nitrogen to organic
nitrogen.

B. Water cycle 1s a constant cyele through which Earth's water moves as it goes though solid. liquid or
gaseous stages.

C. Carbon cycle is the movement of carbon through the different reservoirs of the Earth's ecosystem.

D. Calvin cyele is a second part of photosynthesis in which carbon di oxide is turned into simple sugars.

Choose the correct answer from the options given below:

1. A. B. C only

| )

.B.C.D Only
3JALB.C.D

4. A, C,D Only



Options :

686340148357. 1
686340148358. 2
686340148359. 3
686340148360. 4

Question Number : 90 Question Id : 68634037566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qief 7 g are fafirs =i & 9 | f3u 70 syAT § 8l syA sifeu -

A, FTECIoH 9% Soaldl 99 & ol AgAUSH g ATscior B Hla-1® Aecior § URkaa Il gl
B. 5@ 9% U% f&R 9% ¢ fogd od 319, U 9y 19 a1 § 9% &dl ol

C. TTa- 9 UHI 9% & fored dla- fafis uRiyde! ol § gqar gl

D. A T TSI TRAT &1 {5 UFT & 5798 $e- S™aadss IR0 U6 H 95adl o

=i fau U f[d@edl 5 O Tal 3Tk &1 944 DIu:
1.PdU A, B.C
2. $adB.C.D
3. PAUA.B.C.D
4. BAUA.C.D

Options :

686340148357. 1
686340148358. 2
686340148359. 3
686340148360. 4

Question Number : 91 Question Id : 68634037567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nutrition is broadly defined as the complex interactions of humans with food. Choose the correct options with
respect to the statement.

A, Vitamins & minerals are called macronutrients.

B. It involves not only biochemical processes but also social processes.
C. It also involves economic and physiological factors

D. Carbohydrates. proteins. lipids and water are known as micronutrient.

Choose the correct answer trom the options given below:
1. Aand B only
2. A.Cand D only
3. B and C only

4.B. C and D only

Options :

686340148361. 1
686340148362. 2
686340148363. 3
686340148364. 4

Question Number : 91 Question Id : 68634037567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YU $1 85 =9 8 H-G BT 4o & a1y oifed TarT 8] 53 oy ¥ Tafid el foweal &1 90

A, fger= aur gaur siftgive sgad gl
B. U% 71 Sad wiaeqa fobar afe aramfaie foar +i g1
C. g 3 U Hifde! ued Wi affad g1

D. FAGESC. W, T 7T I J&AIYS Heard o
i fau Tt faeedi o 9 el SR &1 994 Hifoid:

1. Had A 3R B

2.Pad A. C 3R D

3.%aaB 3R C

4.%ad B.C 3RD

Options :

686340148361. 1
686340148362. 2
686340148363. 3
686340148364. 4



Question Number : 92 Question Id : 68634037568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 1s not a representative of Zila Parishad under Panchayati raj system?

A. MLA(Member of the Legislative Assembly)
B. MP(Member of Parliament)

C. BDO(Block Development Officer)

D. DM(District magistrate )

E. Gram Pradhan

Choose the correct answer from the options given below:

1.A.B & C only

| )

.B.C & E Only
3.C & E Only
4.D & E Only

Options :

686340148365. 1
686340148366. 2
686340148367. 3
686340148368. 4

Question Number : 92 Question Id : 68634037568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 9 17 TS uRwe 1 afaFie 78 &2

A. MLA (faurge®)

B. MP (¥193)

C. BDO (&% [ao1d JAUaRD)
D. DM (fofal Afeige)

E. UMH HYH
=i fau U f[daedi § O gl 3Tk &1 944 DIau:

1. PGAA. BAYUIC

2. HAddB. CdYUTE
3. Hdd C dUTE

4. HAADTYUTE

Options :
686340148365. 1



686340148366. 2
686340148367. 3
686340148368. 4

Question Number : 93 Question Id : 68634037569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rock Phosphate is found naturally in which states of India

A. Meghalaya

B. Rajasthan

C. Madhya Pradesh
D. Uttar Pradesh

E. Karnataka

Choose the correct answer from the options given below:

1. A& B Only

| )

.B & C Only

[F5]

.B.C & D Only
4, C.D & E Only

Options :

686340148369. 1
686340148370. 2
686340148371. 3
686340148372. 4

Question Number : 93 Question Id : 68634037569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS BIEhC W ldd =0 § HRd & [dg Isg H ferdr g7

A, TYTE
B. T
C. G U™
D. 3R Uy
E. Tlcd

=i fau U f[daedi § O gl 3Tk &1 944 DIau:
1. Fdd AdUIB
2. HAAB AUl C

3.%au B. C YD

4. HIAC.DIAYE

Options :

686340148369. 1
686340148370. 2
686340148371. 3
686340148372. 4

Question Number : 94 Question Id : 68634037570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A | Phalaris minor I. | Summer annual
B. Hmaranthviridis II. |Perenmial
C. | Cynadon dactylon II1. |Aquatic
D |Salvinia IV, |[Winter annual

oose the correct answer from the options given below:

1. A-IV, B-1. C-II, D-III

| E)

CA-L B-ILL C-IV, D-III
3. A-IV, B-I1, C-III, D-I
4. A-I. B-III. C-II. D-IV

Options :

686340148373. 1
686340148374. 2
686340148375. 3
686340148376. 4



Question Number : 94 Question Id : 68634037570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg
T T T 1T
A |wadig arsTa 1. [fiTeq gt
B. |o# =g [¥isq I [§gauig
c. |gmrs seemar  |mifEdE
D. |Trfcaf=ar @ IV [Eld-ami®
fAgfaRad faeedi O O Uet SR &1 99 Sifr

1. A-IV. B-1. C-II, D-III

| ]

CA-LB-IL C-IV, D-III
3. A-IV, B-I1, C-II1, D-I
4. A-1, B-I1I, C-II. D-IV

Options :

686340148373. 1
686340148374. 2
686340148375. 3
686340148376. 4

Question Number : 95 Question Id : 68634037571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Polymeric gene action I |97
B. | Complementary gene action . |15:1
C. | Duplicate gene action 1. |13:3
D_ | Inhibitory gene action V. |9:6:1

Choose the correct answer from the options given below:

1. A-IV, B-II, C-I, D-ITI

| E)

. A-IV. B-1. C-11. D-ITI
3. A-IIT, B-1, C-II. D-IV
4. A-II1. B-1I., C-I. D-IV

Options :

686340148377. 1

686340148378. 2
686340148379. 3



686340148380. 4

Question Number : 95 Question Id : 68634037571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor

T T g
Ggd®id S foea) 1 [9:7
P S fspal | 1L [15:1
Gl o fopar |10 [13:3
gea- o fdear |1V j9-6:1

fafarad fawent § T 96l SR &1 997 SO -

1. A-IV. B-II. C-1. D-ITI

ofofw+

| ]

A-IV, B-1, C-11, D-III
3. A-IIL. B-1. C-II. D-IV
4. A-III, B-II. C-1. D-IV

Options :

686340148377. 1
686340148378. 2
686340148379. 3
686340148380. 4

Question Number : 96 Question Id : 68634037572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Price maker I |Price of output is fixed
5 dier L {omtl}' determine the price by the
firm
. lcotusion . Ability to influence the price of
output
D. |Cartel IV. [Several firms decided one price.

Choose the correct answer from the options given below:
1. A-I. B-II. C-II1, D-IV
2. A-TV. B-II1. C-I1. D-1
3. A-IL B-II1. C-IV. D-1

4. A-III, B-1. C-II. D-IV



Options :

686340148381. 1
686340148382. 2
686340148383. 3
686340148384. 4

Question Number : 96 Question Id : 68634037572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor

T 1 Tt 1
O FuR® | 1 [s13eqe &1 RR g
e TR 1L [FH 5N 906 ¥ ¥ Jed HyR

Healy 111 [3132Ye &1 geu uHifad - § &
BORE] IV [ggd 9l B U $1Hd 1R YgHd

fafarad fawent § T 96l SR &1 997 SO -

1. A-I. B-II. C-III. D-IV

ofofw>

| o

CA-IV, B-III. C-I1, D-I
3. A-IIL B-III. C-IV. D-I
4. A-III, B-1, C-1I. D-IV

Options :

686340148381. 1
686340148382. 2
686340148383. 3
686340148384. 4

Question Number : 97 Question Id : 68634037573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1I LISTII
A [Engel Curve I | A good thar 15 scarce
B |Consumer I1. | Trade barriers
€. |Presibsite s araie e An 1nd11._'1c1ual that purchase goods
or a service
D [Beononie good v Relationship between income and

quantity demanded

Choose the correct answer from the options given below:

1. A-IV, B-IIL. C-II. D-I
2. A-TI, B-III. C-IV, D-I
3. A-I. B-IL C-III. D-IV
4. A-IV. B-II. C-III. D-I

Options :

686340148385. 1

686340148386. 2

686340148387. 3
686340148388. 4

Question Number : 97 Question Id : 68634037573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 9 fHaH Sifen

T 1 T
A Bdds L |3fcTdT arell 9%
B. [SUHIE 1. [SOTOR S1ETd
C. [oaa @R TEEid] 111 [os ofad o asqe al 991 Wiiadl 5
D. [aidd a%g IV. |31T7e-l U1 HIT A &l T
frafafad faeedl & 9 98l STR &1 994 Sty ;

1. A-IV. B-III. C-II. D-I

| )

. A-TL B-III. C-IV, D-I
3. A-1, B-II. C-III. D-IV
4. A-IV, B-II, C-II1. D-I

Options :

686340148385. 1
686340148386. 2
686340148387. 3
686340148388. 4



Question Number : 98 Question Id : 68634037574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Starch and Tnulin I |Animals
B. Maltose II. [Verv Long chain of glucose polvmer
C |Cellulose 111 |Plants
11 — v Disaccharide of two glucose
molecules

Choose the correct answer from the options given below:

1. A-III, B-IV. C-I, D-II

| ]

CA-IIL B-IV. C-I1, D-I
3. A-IV. B-IIL. C-1. D-1II
4. A-I. B-II. C-IIL. D-IV

Options :

686340148389. 1
686340148390. 2
686340148391. 3
686340148392. 4

Question Number : 98 Question Id : 68634037574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 1 D1 Y 11 9 FHar Pl

a1 T 10
A [ ayigieH| 1 [§g
B. [ATecE 11 [T g & g5 aral HEd]
C. [Hegdy 1L [urqy
D. [ferEd e V. [6] T U3 & SEUahiIE S
frafafad fdeeal & 9 9l SR &1 994 Sifo :

1. A-IIIL, B-IV. C-I. D-I1

| ]

AL B-IVL. C-I1L D-I
3. A-IV. B-IIL. C-1. D-II
4. A-L. B-II. C-III. D-IV

Options :
686340148389. 1



686340148390. 2
686340148391. 3
686340148392. 4

Question Number : 99 Question Id : 68634037575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Rashtriva Knishi Vikas Yojana I 1995
B. | Institutions Villages Linkage programme| II. |1993
C. Pawahar Rozgar Yojana 1L 2007
D. [Emplovment Assurance Scheme IV |1989

Choose the correct answer from the options given below:

1. A-I. B-III. C-II. D-IV

| )

CA-IL B-1, C-IV. D-II
3. A-L B-II, C-IV, D-III
4, A-II1, B-1I. C-1. D-IV

Options :

686340148393. 1
686340148394. 2
686340148395. 3
686340148396. 4

Question Number : 99 Question Id : 68634037575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

gl 1 1 Yl 1 ¥ fieH sifore

T I = o
IV fopgTH fddmrg araq 1 (1993
[ 9H giiTe dg$d | 1L (1993

HATE3 U el 1L [2007
RTSTR TTRe ] gie ] IV [1989

frafarad fawel & I 96l IR &1 994 DI -

1. A-I. B-III. C-II. D-IV

REE

| ]

AL B-1L C-IV. D-II

3. A-L. B-I1, C-IV, D-III

4. A-III, B-1I. C-1. D-IV



Options :

686340148393. 1
686340148394. 2
686340148395. 3
686340148396. 4

Question Number : 100 Question Id : 68634037576 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII

Primary grain crop used by 50%

A (Wheai K of the worlds population
Rice e Z\:Io_s‘r important crop in the
[United States
C. |Comn IIT. |Other important cereal crops
D. [Barley, Oat v Most important cereal crop in

the world.

Choose the correct answer trom the options given below:
1. A-I B-II. C-III. D-IV
2. A-IV. B-I. C-I1. D-III
3. A-IV, B-III. C-II. D-1
4. A-I1, B-III, C-IV. D-I

Options :

686340148397. 1
686340148398. 2
686340148399. 3
686340148400. 4

Question Number : 100 Question Id : 68634037576 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-III. D-IV

ofolw>

2. A-IV, B-1, C-11, D-III
3. A-IV. B-IIL. C-II. D-I
4. A-IL. B-III. C-IV. D-I

Options :

686340148397. 1
686340148398. 2
686340148399. 3
686340148400. 4




